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QUESTION 5. (10 points) Find the general solution of y(t), 1.e., find y, where
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=1 isa soluton to the homogeneous Linear Diff. Equation

QUESTION 6. (S points) Given Y
V' = 15y + ao(t)y = 0. Find y, (1)
1~
g e it R Cit ¥ x>
LTI 2t o
LS| j e e TR e
\{\,l 4 D! | ( ’v‘
Al — M LS
R el R T
=3 = a1 &
7 o
S 0 Y Vb }L
. 2 =
,Jrjut Jt ch—l+1+_
£ :
QUESTION 7. (8 points) 34 S 1724\ At
(1) (3 points) Find y;,, where " — 5y + 6y =0 \ —1 ( £l %
) N | r ‘E, 3 [ =l '[}
%Pf ‘-5 e '—i_" i 't J { z 7
= = | at? i
P T | \/

Chorac: m1_5m4g=o
=0 =g+ - |

(- ™ -2) ° ‘
- .,)3‘

he cie¥ t e

ii) (3 points) Consider the L.D.E 3" — 5y’ + 6y = t2. Use Laplace, as explained in the class room, and find the
L

L34 = ==

gencral form of y,.
Y(S\ = = - S T S s
$*(5-1)(5-2) 5 < T harn o
Wl Cv + Cat + C(aths Cye® 4 (s et
e / - — . ~7_Jij
Bl e
)
quedt  Yp e er o+ Gt o Cat™ ,
e
(i1i) (2 points) By substituting y,, in the dif. equation in (1i), find the exact y,.
jP d Gt 2 C'st
47 20 #
2) =t
5Cy - S (Cz y 203t )a 6 (C\+(1t+(st A -
22 - S Cr -l0C3yE + é_gl +6cl—_{ 1 €Cht? V40
) Cy-SCrt6Cy =0
CCs = | 2
_10Cy + 6C2 =0
Danulic: hafavmentiag (& = \
3 /é -10 4 (Cp=0
6
(’7 v i_ . /
12 —{A—

19

\ & —
108




)

T & BN | ala e

. ?nj' - i

Pryy= 2 le@)- s (4]

)

2 Uo(' )

QLY 3)—'35. .))

o) (s*-3%) = 2. 2e "
iy
2-2e” . - e’
S(3-35) s2(s-3)
= 2 N 2 @’75
s*(s-3)  T5Igy-3)
I - a | L 4 _L—
= —ab g : = T3 qs73)
51(5’3) S 5L ;?— q& P j
= z =1 ) i, VTR e
= —_ (@} Lo -e ST e S
o i CL/C‘ ( e
Y (1) - Qﬂ'i—_‘_- > TRL S e -QI-K'O-H ot
g A5, Lulyh Blss) X (W
2 =L -1 T - (_‘ ol - ‘
(q “si = e)_zu({.z\ s .i;(t 1).q
somEo 2y e 2% L gy ¢ ZUE-DED-2ue-n et Y
9 2 i “ 3

question one with more details
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